=LPDB

3UDFRZQLN 5RINiDG GU S8UEDeVND _DPLID 7\J

7\G] 7\G] 7\G]
SDFKXQHN $QDIID SDFKXQNR
NRV]IyZ L HNRQRPIF] | [ZRGi
UDFKXQNRZ QD z 6 | [1DU1aGFID
P RGii 8IEDEVND | [Z "aU
= 1DU]aGF]D .DPUD =Di| |8UEDEVND
=} Z 6l CFID RQ .DPUD =DI
o 8UEDEVND IQH CFID RQ
I .DPUD =DI .27 IQH
o CFID RQ t<. .27/
x IQH 760 t<.
o 537 IXIHIR Z6Q
=< U IXIHIR
Z6Q RGE\ZDlg U
IXIHIR VIC JDICFID | |RGE\ZDIg
U IDN Z VIC TDICFD
DICFLD IDN F]ZDUHN | [IDNZ
Z F]ZDUHN = |F1ZDuHN
=
n
7N 7N 7\G] 7N 7\G] 7\G]
$QDIID I1QDQVRZD 6HPLQDUXP G\SIRPRZH $QDIID HNRQRPLF]QD
$QDI]D I.QDQVRZD $QDIID HNRQRPLF]QD SUJHGVICEIRWIZD ZDU 6HPLQDUXP G\SIRPRZH GU SUEDEVND .DPUD =% ZDU " GU S8UEDEVND
SUJHGVICEIRWIZD ZDU ZDU~ GU S8UEDEVND GU SUEDEVND .DPUD =% GU SUEDEVND .DPUD =% 53/ 6(0 _DPUD =%
GU BUEDEVND .DPUD =% _DPUD =% 53/ 53/ 6(0 .2/ :=$5
.20387(52:% .27 -$5 -$5
53/ :=%5 SHIZVJH JDIGFD  PLQ
a SIHUZVIH IDICFID  PIQ Z JRG]
) Z JRG]
X 7N
I 7\J
6HPLQDUXP G\SIRPRZH
$QDI]D I.QDQVRZD GU S8UEDEVND .DPUD =%
SUJHGVICEIRWIZD ZDU 53/ 6(0
GU BUEDEVND .DPUD =%
.20387(52:-%
53/ -$5
SIHUZVIH IDICFID  PIQ
Z JRG]
7N 7N
SDFKXQHN NRV]lyZ | $QDIID HNRQRPLF]QD
UDFKXQNRZRGi Z GU8UEDEVND -DPLD
pd 1DU1aGFID Z GU =DICFDRQUQH (.2
< SUEDEVND .DPUD =DICFL /=<
2 DRQUQH 537/
N -<. 7\
m
S5DFKXQNRZRGi

10UJaGFID Z G
BUEDEVND .DPID =DICFL
DRQUQH (.27

-<.

3w




3UDFRZQLN 5RINiDG GU S8UEDeVND _DPLID 7\J

=LPDB

7\6]

$QDIID I.QDQVRZD
SUJHGVLCEIRWIZD ZDU
GU BUEDEVND .DPUD =%

7\6]

$QDIID ILQDQVRZD
SUJHGVLCEIRWIZD ZDU
GU BUEDEVND .DPUD =%

-<.

-<.

7\G]
$QDI]D ILQDQVRZD
SUJHGVIHERWIZD Z Gl
SUEDEVND .DPIUD =DICFL
DRQIQH 535

-<.

535 o<. 535 o<.
o 7\G] 7\G]
§ $QDI]D ILQDQVRZD $QDIL]D ILQDQVRZD
L SUJHGVICELRMIZD ZDU SUJHGVICELRMIZD ZDU
g GU BUEDEVND .DPLD =% GU BUEDEVND .DPLD =%
535 <. 535 o<.
7\G]
$QDIL]D ILQDQVRZD
SUJHGVLCELRWIZD ZDU
GU 8UEDEVND .DPUD =%
535 o<.
7\G] 7\G]
$QDIL]D ILQDQVRZD $QDIL]D ILQDQVRZD
SUJHGVIHEIRWIZD Z GU SUJHGVIHEIRWIZD Z GU
8UEDEVND .DPLUD =DICFL 8UEDEVND .DPUD =DICFL
D RQ (LQH 535 D RQ (LQH 535
<. <.
a) 7\G] 7\G]
e $QDIL]D ILQDQVRZD $QDIL]D ILQDQVRZD
= SUJHGVIHEIRWIZD Z GU SUJHGVIHEIRWIZD Z Gl
% 8UEDEVND .DPLUD =DICFL 8UEDEVND .DPUD =DICFL
6“ D RQ (LQH 535 D RQ (LQH 535




